Question

Find in exact simplified form an exact expression for the sum of the first n terms of the following series

$$1 + 11 + 111 + 1111 + 11111 + \dots$$

$$S_n = \frac{1}{81} \left[10^{n+1} - 10 - 9n \right]$$

$$S' = 1 + 11 + 111 + 1111 + 1111 + \dots$$

$$\Rightarrow S' = \left(\frac{1}{3}X^{4}\right) + \left(\frac{1}{3}X^{2}9^{2}\right) + \left(\frac{1}{3}X^{2}9^{2}\right) + \dots + \left(\frac{1}{3}X^{2}9^{2}\right) \dots + \frac{1}{3}X^{2}$$

$$\Rightarrow S' = \frac{1}{3}\left[\left(\frac{1}{3}(-1) + \left(\frac{1}{3}X^{2}\right) + \left(\frac{1}{3}X^{2}\right) + \left(\frac{1}{3}X^{2}\right) + \dots + \left(\frac{1}{3}X^{2}\right) + \frac{1}{3}X^{2} + \dots + \frac{1}{3}X^{2}\right]$$

$$\Rightarrow S' = \frac{1}{3}\left[\left(\frac{1}{3}(-1) + \left(\frac{1}{3}X^{2}\right) + \left(\frac{1}{3}X^{2}\right) + \left(\frac{1}{3}X^{2}\right) + \dots + \frac{1}{3}X^{2}\right]$$

$$\Rightarrow S' = \frac{1}{3}\left[\left(\frac{1}{3}X^{2} + \left(\frac{1}{3}X^{2}\right) + \left(\frac{1}{3}X^{2}\right) + \left(\frac{1}{3}X^{2}\right) + \left(\frac{1}{3}X^{2}\right) + \frac{1}{3}X^{2}\right]$$

$$\Rightarrow S' = \frac{1}{3}\left[\left(\frac{1}{3}X^{2} + \left(\frac{1}{3}X^{2}\right) + \left(\frac{1}{$$

ERROR: stackunderflow OFFENDING COMMAND: ~

STACK: